
MISCELLANEOUS.

Exercise XLIX.-ON THE SIMPLE RULES.

A.

^l\ Th^ ^^!,^a''-«e Of 9087064X89706^336.

(S) By what number must iggg be dividsH tl,,. ,1,quotient and the remainder iS? b| the ;»^» S*quonen. and the remainder in Sivision ofTo^ bJ ,?f

of t^^iISS °/e1iS rA"tL'«^^«^ ' f.™«
the result is 7 times whit numte?? ^^ "^ '" '""^^'O".

fact|^,t^Vv%e1„-^Vth°i:to^S "^ "^^

^evi ije™tars"?.t"nrda"„'it';r;4^^^^^^^
one hund'-ed thnncar.^ ^ j •

=>*=^«="iy-inree millions,r^^p^S^^ M^tiply the

timS\he' fjil :„Tr 1 "..6^'""^"i>.
3784875ranT seven

(lo) Multiply, using factors 766485 by 63.

B.

0) Multiply 83102254 by 7090.

(ll FinH ?/^'°"54 by 19435.W i' ind 78 times the sum of 894967,
8a

38730. 6q3Q7
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